		? = double check on industry #s & then erase the ?mark
 Current Ratio:     

2015:  = 0.9322180782741918 ≈ 0.93x             Industry : 2.2x ?

2014:  = 0.9694509131020958 ≈ 0.97x		Ind. : 2.0x ?

2013:  = 0.8823274929699329 ≈ 0.88x		Ind. : 2.1x ?

2012:  = 0.8346097078726782 ≈ 0.83x		Ind. : 2.5x ?

2011:  = 0.8824237560192616 ≈ 0.88x		Ind. : 2.4x ?
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Quick Ratio:	

2015:  =  = .244046  ≈ 0.24x     Industry : 0.3x ?

2014:  =  = .277868  ≈ 0.28x		Ind. : 0.5x ?

2013:  =  = .2354 ≈ 0.23x		Ind. : 0.3x ?

2012:  =  = .2247 ≈ 0.22x		Ind. : 0.5x ?

2011:  =  = .2289 ≈ 0.23x		Ind. : 0.5x ?



Inventory Turnover:  

2015:  =  ≈ 10.84x     	Industry : 6.1x

2014:  = 10.75853437008485  ≈ 10.76x	Ind. : 6.3x

2013:  =   ≈ 10.62x	Ind. : 7.1x

2012:  =   ≈ 10.71x	Ind. : 7.0x

2011:  = 10.97779633541288  ≈ 10.98x	Ind. : 6.8x

[image: Points scored]


Days Sales Outstanding: 

2015:  =  = 4.257689833367238  ≈ 4.26 days  		Ind. : 1.5 days

2014:  =  = 5.094131401293185  ≈ 5.09 days		Ind. : 0.9 days

2013:  =  = 5.116808100009145  ≈ 5.12 days		Ind. : 0.7 days

2012:  =  = 5.265388085008695 ≈ 5.27 days		Ind. : 2.9 days

2011:  =  = 4.848428227684705 ≈ 4.85	 days		Ind. : 4.0 days


Total Asset Turnover: 
	2015:  =  ≈ 2.42     	Industry : 
2014:  =  ≈ 2.38		Ind. : x

2013:  =  ≈ 2.33		Ind. : x

2012:  = 2.30994805642401 ≈ 2.31		Ind. : x

2011:  = 2.31094174948036 ≈ 2.31		Ind. : x

Debt-to-Capital: 
2015:  = ≈      Industry : 
2014:  = ≈		Ind. : %

2013:  = ≈		Ind. : %

2012:  = ≈		Ind. : %

2011:  = ≈		Ind. : %

Profit Margin: 
2015:  = 0.03048 ≈ 0.03   	     Industry : 
2014:  = 0.03369 ≈ 0.03		Ind. : %

2013:  = 0.03364 ≈ 0.03		Ind. : %

2012:  = 0.03623 ≈ 0.04		Ind. : %

2011:  = 0.03512 ≈ 0.04		Ind. : %

Basic earning power: 
2015:  = 0.1208  ≈ 12.08%		Industry : 
2014:  = 0.1333 ≈ 13.33%		Ind. : %

2013:  = 0.1312 ≈ 13.12%		Ind. : %

2012:  = 0.1369 ≈ 13.69%		Ind. : %

2011:  = 0.1373 ≈ 13.73%		Ind. : %

DuPont: Profit margin x Total assets turnover x Equity multiplier = 
() x () x ()

2015:  = .03048 x 2.4157 x  2.4779 = 18.24 	Industry : 
2014:  =	.03369 x 2.3841 x 2.5027 = 20.10	Ind. : x

2013:  =	.03364 x 2.3262 x 2.6851 = 21.01	Ind. : x

2012:  = .03623 x 2.3099 x 2.6604 = 22.26	Ind. : x

2011:  = 	0.0351 x 2.3109 x 2.7119 = 21.99	Ind. : x
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